Early American Tavern, 9 Main Street Sussex, NJ 07461, Pulled: 07/22/2025 9:32:53 PM

Settings: Date Range: 08/25/2023 - 08/31/2023 Taxcode: All Taxcodes Employee: All Employees Menu Categories: Apps Desserts Drinks Entree Lunch Pizza/Burger Sand/Sal/Soup Sides/ Adds Specials Uncategorized

Item	Item Price	Quantity Sold	Average Price	Total Options	Total \$ Sold	view transactions
FIRE ORDER	\$0.00	42.0	\$0.00	\$0.00		View Transactions
E.A.T Wings LG	\$15.00	32.0	\$13.24	\$3.75	\$423.75	View Transactions
Coke	\$3.00	28.0	\$3.00	\$0.00	\$84.00	View Transactions
E.A.T Wings SM	\$10.00	24.0	\$8.36	\$0.75	\$200.75	View Transactions
Fried Pickles	\$8.75	20.0	\$6.00	\$1.00	\$120.00	View Transactions
Angus Burger	\$11.00	20.0	\$12.60	\$32.00	\$252.00	View Transactions
Moonshine BBQ Burger	\$14.00	20.0	\$15.00	\$20.00	\$300.00	View Transactions
OPEN FOOD	\$0.00	20.0	\$15.22	\$0.00	\$304.45	View Transactions
Tea	\$3.00	20.0	\$3.00	\$0.00	\$60.00	View Transactions
7 Up	\$3.00	19.0	\$3.00	\$0.00	\$57.00	View Transactions
Quesadillas	\$12.75	19.0	\$9.32	\$3.00	\$177.00	View Transactions
Prime Rib Sandwich	\$15.50	17.0	\$16.18	\$20.00	\$275.00	View Transactions
Sweet Tea	\$3.00	17.0	\$3.00	\$0.00	\$51.00	View Transactions
Signature Burger	\$12.00	16.0	\$13.75	\$28.00	\$220.00	View Transactions
Diet Coke	\$3.00	16.0	\$3.00	\$0.00	\$48.00	View Transactions
Pretzel Bites	\$9.75	15.0	\$8.40	\$0.00	\$126.00	View Transactions
High Point Pulled Pork	\$13.75	15.0	\$13.61	\$15.50	\$204.10	View Transactions
Prime Rib	\$31.50	15.0	\$28.38	\$5.75	\$425.75	View Transactions
Tavern Cheesesteak	\$13.50	13.0	\$13.85	\$11.00	\$180.00	View Transactions
Mozz Sticks	\$7.00	12.0	\$5.54	\$0.00	\$66.50	View Transactions
Spinach Artichoke Dip	\$10.00	12.0	\$9.58	\$0.00	\$115.00	View Transactions
Loaded Tots	\$11.50	11.0	\$8.50	\$0.00	\$93.50	View Transactions
Kids Chicken Fingers	\$7.00	11.0	\$6.64	\$2.00	\$73.00	View Transactions
Banging Shrimp	\$14.75	10.0	\$11.90	\$0.00	\$119.00	View Transactions
Coffee	\$2.50	10.0	\$2.50	\$0.00	\$25.00	View Transactions
Nacho Supreme	\$10.75	10.0	\$8.50	\$0.00	\$85.00	View Transactions
Reg House Salad	\$5.00	10.0	\$5.00	\$0.00	\$50.00	View Transactions
Applewood Chicken Wrap	\$11.00	10.0	\$11.90	\$9.00	\$119.00	View Transactions
I	I .	1	1		·	

Fried Chicken	\$18.50	9.0	\$18.00	\$0.00	\$162.00	View Transactions
Seltzer	\$3.00	9.0	\$3.00	\$0.00	\$27.00	View Transactions
Ginger Ale	\$3.00	9.0	\$3.00	\$0.00	\$27.00	View Transactions
Chardonnay Glass	\$8.00	8.0	\$8.00	\$0.00	\$64.00	View Transactions
Smoked Meat Loaf	\$22.75	8.0	\$22.00	\$0.00	\$176.00	View Transactions
Broc bites	\$14.00	8.0	\$11.00	\$0.00	\$88.00	View Transactions
Chicken Mango Pepper Jack Panini	\$11.00	8.0	\$12.00	\$8.00	\$96.00	View Transactions
Fresh clams	\$13.50	8.0	\$12.19	\$0.00	\$97.50	View Transactions
Calamari	\$13.00	7.0	\$10.21	\$0.00	\$71.50	View Transactions
Sweet and Spicy Chicken	\$14.75	7.0	\$14.43	\$3.00	\$101.00	View Transactions
Buffalo Chicken Wrap	\$11.00	7.0	\$12.00	\$7.00	\$84.00	View Transactions
Corned Beef Reuben	\$14.75	7.0	\$15.71	\$12.00	\$110.00	View Transactions
Shrooms and Swiss	\$13.00	7.0	\$14.29	\$9.00	\$100.00	View Transactions
Cheese Calzone	\$12.00	7.0	\$13.93	\$13.50	\$97.50	View Transactions
Cheese Personal Pie	\$10.00	7.0	\$10.43	\$3.00	\$73.00	View Transactions
Italian trio	\$26.00	7.0	\$26.00	\$0.00	\$182.00	View Transactions
Fried ice Cream	\$7.00	7.0	\$7.00	\$0.00	\$49.00	View Transactions
North Jersey Chicken	\$19.00	7.0	\$19.00	\$0.00	\$133.00	View Transactions
Fish & Chips	\$18.50	6.0	\$17.00	\$0.00	\$102.00	View Transactions
Cedar Planked Salmon	\$22.75	6.0	\$22.00	\$0.00	\$132.00	View Transactions
Malbec Glass	\$8.00	6.0	\$8.00	\$0.00	\$48.00	View Transactions
Lemonade	\$3.00	6.0	\$3.00	\$0.00	\$18.00	View Transactions
Root Beer	\$3.00	6.0	\$3.00	\$0.00	\$18.00	View Transactions
Chicken Dijon Blue Sandwich	\$14.00	6.0	\$15.50	\$9.00	\$93.00	View Transactions
Cheese Family Pie	\$13.00	6.0	\$12.83	\$12.00	\$77.00	View Transactions
Bigger On Texas	\$19.00	6.0	\$20.00	\$6.00	\$120.00	View Transactions
The Tavern Calzone	\$12.00	6.0	\$14.50	\$15.00	\$87.00	View Transactions
Chicken Cordon Bleu	\$18.75	6.0	\$18.50	\$3.00	\$111.00	View Transactions
Bacon Bombs	\$12.50	6.0	\$12.00	\$0.00	\$72.00	View Transactions
Tavern Dip	\$17.00	6.0	\$12.50	\$5.00	\$75.00	View Transactions

Goat Chinaria Salad							
Fried Protegics \$9,00 \$0.0 \$9,00 \$0.00 \$44,00 \$44,00 \$	Goat Cheese Salad	\$14.00	6.0	\$15.00	\$6.00	\$90.00	View Transactions
Silant Pretter Sil200 S.D. Sil000 Sil	The B.A.L.T.	\$14.00	5.0	\$13.00	\$0.00	\$65.00	View Transactions
Crab Cakes	Fried Perogies	\$9.00	5.0	\$9.00	\$0.00	\$45.00	View Transactions
The Jersey Burger	Giant Pretzel	\$12.00	5.0	\$10.80	\$0.00	\$54.00	View Transactions
Stuff clams	Crab Cakes	\$14.50	5.0	\$8.40	\$0.00	\$42.00	View Transactions
Spin dip \$14.00 \$.0 \$10.00 \$0.00 \$50.00 View Transactions Pecan Pie \$7.00 \$.0 \$7.20 \$1.00 \$36.00 View Transactions French Fries \$4.00 \$.0 \$4.00 \$0.00 \$20.00 View Transactions Tavern Baby Back - Half Rack \$19.00 \$.0 \$19.00 \$0.00 \$55.00 View Transactions Smokehouse Brisket \$23.00 \$.0 \$23.20 \$1.00 \$116.00 View Transactions New York Strip Steak \$26.00 4.0 \$226.00 \$0.00 \$104.00 View Transactions Shepherds Pie \$19.75 4.0 \$18.75 \$3.00 \$75.00 View Transactions Com Bread \$6.00 4.0 \$6.00 \$0.00 \$24.00 View Transactions Vergie Stuffed Peppers \$16.75 4.0 \$16.00 \$0.00 \$24.00 View Transactions Sweet Potato Fries \$5.00 4.0 \$5.00 \$0.00 \$20.00 View Transactions	The Jersey Burger	\$14.00	5.0	\$15.55	\$7.75	\$77.75	View Transactions
Pecan Pie \$7.00 \$5.0 \$7.20 \$1.00 \$36.00 View Transactions French Fries \$4.00 \$0.0 \$0.00 \$20.00 View Transactions Tavern Baby Back - Half Rack \$15.00 \$5.0 \$19.00 \$0.00 \$55.00 View Transactions Smokehouse Brisket \$23.00 \$0.0 \$116.00 View Transactions New York Strip Steak \$28.00 4.0 \$28.00 \$0.00 \$104.00 View Transactions Shepherds Pie \$19.75 4.0 \$18.75 \$3.00 \$74.00 View Transactions Carn Bread \$6.00 4.0 \$6.00 \$0.00 \$24.00 View Transactions Veggie Stuffed Peppers \$16.75 4.0 \$16.00 \$0.00 \$64.00 View Transactions Sweet Potato Fries \$5.00 4.0 \$5.00 \$0.00 \$20.00 View Transactions Grown Royal \$11.00 4.0 \$11.00 \$0.00 \$44.00 View Transactions Lunch Cambo \$16.00 4	Stuff clams	\$14.00	5.0	\$13.00	\$0.00	\$65.00	View Transactions
French Fites	Spin dip	\$14.00	5.0	\$10.00	\$0.00	\$50.00	View Transactions
Tavern Baby Back - Half Rack \$19.00 \$5.0 \$19.00 \$0.00 \$95.00 \$View Transactions \$ Smokehouse Brisket \$23.00 \$5.0 \$23.20 \$1.00 \$116.00 \$View Transactions \$ New York Strip Steak \$26.00 \$4.0 \$26.00 \$0.00 \$104.00 \$View Transactions \$ Shepherds Pie \$19.75 \$4.0 \$18.75 \$3.00 \$75.00 \$View Transactions \$ Corn Bread \$6.00 \$4.0 \$6.00 \$0.00 \$24.00 \$View Transactions \$ Veggie Stuffed Peppers \$16.75 \$4.0 \$16.00 \$0.00 \$64.00 \$View Transactions \$ Sweet Pota to Fries \$5.00 \$4.0 \$55.00 \$0.00 \$20.00 \$View Transactions \$ Grid Rings \$5.00 \$4.0 \$55.00 \$0.00 \$20.00 \$View Transactions \$ Crown Royal \$11.00 \$4.0 \$11.00 \$0.00 \$44.00 \$View Transactions \$ Tavern Peach Tea \$12.00 \$4.0 \$12.00 \$0.00 \$44.00 \$View Transactions \$ Kids Pizza \$7.00 \$4.0 \$16.00 \$0.00 \$44.00 \$View Transactions \$ Nids Pizza \$7.00 \$4.0 \$18.50 \$18.00 \$74.00 \$View Transactions \$ Portabella Heaven \$14.00 \$4.0 \$18.50 \$18.00 \$74.00 \$View Transactions \$ Final Pizza \$7.00 \$4.0 \$18.50 \$18.00 \$74.00 \$View Transactions \$ Fortabella Heaven \$14.00 \$4.0 \$18.50 \$18.00 \$74.00 \$View Transactions \$ Final Pizza \$7.00 \$4.0 \$18.50 \$18.00 \$74.00 \$View Transactions \$ Fortabella Heaven \$14.00 \$4.0 \$18.50 \$18.00 \$74.00 \$View Transactions \$ Fortabella Heaven \$14.00 \$4.0 \$18.50 \$18.00 \$74.00 \$View Transactions \$ Final Pizza \$7.00 \$4.0 \$18.50 \$18.00 \$74.00 \$View Transactions \$ Fortabella Heaven \$14.00 \$4.0 \$18.50 \$18.00 \$74.00 \$View Transactions \$ Fortabella Heaven \$14.00 \$4.0 \$18.50 \$18.00 \$74.00 \$View Transactions \$ Final Pizza \$7.00 \$4.0 \$18.50 \$18.00 \$74.00 \$View Transactions \$ Fortabella Heaven \$14.00 \$4.0 \$18.50 \$18.00 \$74.00 \$18.00 \$	Pecan Pie	\$7.00	5.0	\$7.20	\$1.00	\$36.00	View Transactions
Smokehouse Brisket \$23.00 \$.0 \$23.20 \$1.00 View Transactions New York Strip Steak \$26.00 4.0 \$26.00 \$0.00 \$104.00 View Transactions Shepherds Ple \$19.75 4.0 \$18.75 \$3.00 \$75.00 View Transactions Corn Bread \$6.00 4.0 \$6.00 \$0.00 \$24.00 View Transactions Veggle Stuffed Peppers \$16.75 4.0 \$16.00 \$0.00 \$64.00 View Transactions Sweet Potato Fries \$5.00 4.0 \$5.00 \$0.00 \$20.00 View Transactions Onion Rings \$5.00 4.0 \$5.00 \$0.00 \$44.00 View Transactions Tavern Peach Tea \$11.00 4.0 \$11.00 \$0.00 \$48.00 View Transactions Lunch Combo \$16.00 4.0 \$16.00 \$0.00 \$48.00 View Transactions Kids Pizza \$7.00 \$7.00 \$2.00 \$28.00 View Transactions Portabella Heaven \$14.00	French Fries	\$4.00	5.0	\$4.00	\$0.00	\$20.00	View Transactions
New York Strip Steak \$26.00	Tavern Baby Back - Half Rack	\$19.00	5.0	\$19.00	\$0.00	\$95.00	View Transactions
Shepherds Pie \$19.75 4.0 \$18.75 \$3.00 \$75.00 View Transactions	Smokehouse Brisket	\$23.00	5.0	\$23.20	\$1.00	\$116.00	View Transactions
Corn Bread \$6.00 4.0 \$6.00 \$0.00 \$24.00 View Transactions Veggie Stuffed Peppers \$16.75 4.0 \$16.00 \$0.00 \$64.00 View Transactions Sweet Potato Fries \$5.00 4.0 \$5.00 \$0.00 \$20.00 View Transactions Onion Rings \$5.00 4.0 \$5.00 \$0.00 \$24.00 View Transactions Crown Royal \$11.00 4.0 \$11.00 \$0.00 \$44.00 View Transactions Lunch Combo \$16.00 4.0 \$16.00 \$0.00 \$64.00 View Transactions Rids Pizza \$7.00 4.0 \$16.00 \$0.00 \$28.00 View Transactions Portabella Heaven \$14.00 4.0 \$18.50 \$18.00 \$74.00 View Transactions Grilled Chicken Caesar Wrap \$13.00 4.0 \$13.75 \$3.00 \$55.00 View Transactions Ham, Apple, and Brice Panini \$11.00 4.0 \$13.75 \$3.00 \$48.00 View Transactions <	New York Strip Steak	\$26.00	4.0	\$26.00	\$0.00	\$104.00	View Transactions
Veggie Stuffed Peppers \$16.75 4.0 \$16.00 \$0.00 \$64.00 View Transactions Sweet Potato Fries \$5.00 4.0 \$5.00 \$0.00 \$20.00 View Transactions Onion Rings \$5.00 4.0 \$5.00 \$0.00 \$20.00 View Transactions Crown Royal \$11.00 4.0 \$11.00 \$0.00 \$44.00 View Transactions Tavern Peach Tea \$12.00 4.0 \$12.00 \$0.00 \$48.00 View Transactions Lunch Combo \$16.00 4.0 \$16.00 \$0.00 \$64.00 View Transactions Rids Pizza \$7.00 4.0 \$18.50 \$18.00 \$74.00 View Transactions Portabella Heaven \$14.00 4.0 \$18.50 \$18.00 \$74.00 View Transactions Spice Is Nice \$13.00 4.0 \$13.75 \$3.00 \$55.00 View Transactions Ham, Apple, and Brie Panini \$11.00 4.0 \$12.00 \$4.00 \$48.00 View Transactions	Shepherds Pie	\$19.75	4.0	\$18.75	\$3.00	\$75.00	View Transactions
Sweet Potato Fries \$5.00 4.0 \$5.00 \$0.00 \$20.00 View Transactions Onion Rings \$5.00 4.0 \$5.00 \$0.00 \$20.00 View Transactions Crown Royal \$11.00 4.0 \$11.00 \$0.00 \$44.00 View Transactions Tavern Peach Tea \$12.00 4.0 \$16.00 \$0.00 \$48.00 View Transactions Lunch Combo \$16.00 4.0 \$16.00 \$0.00 \$64.00 View Transactions Kids Pizza \$7.00 4.0 \$7.00 \$2.00 \$28.00 View Transactions Portabella Heaven \$14.00 4.0 \$18.50 \$18.00 \$74.00 View Transactions Spice Is Nice \$13.00 4.0 \$14.25 \$5.00 \$57.00 View Transactions Grilled Chicken Caesar Wrap \$13.00 4.0 \$13.75 \$3.00 \$55.00 View Transactions Turkey Burger \$10.00 3.0 \$16.17 \$12.50 \$48.00 View Transactions	Corn Bread	\$6.00	4.0	\$6.00	\$0.00	\$24.00	View Transactions
Onion Rings \$5.00 4.0 \$5.00 \$0.00 \$20.00 View Transactions Crown Royal \$11.00 4.0 \$11.00 \$0.00 \$44.00 View Transactions Tavern Peach Tea \$12.00 4.0 \$12.00 \$0.00 \$48.00 View Transactions Lunch Combo \$16.00 4.0 \$16.00 \$0.00 \$64.00 View Transactions Kids Pizza \$7.00 4.0 \$7.00 \$2.00 \$28.00 View Transactions Portabella Heaven \$14.00 4.0 \$18.50 \$18.00 \$74.00 View Transactions Spice Is Nice \$13.00 4.0 \$14.25 \$5.00 \$57.00 View Transactions Grilled Chicken Caesar Wrap \$13.00 4.0 \$13.75 \$3.00 \$55.00 View Transactions Ham, Apple, and Brie Panini \$11.00 4.0 \$12.00 \$4.00 \$48.00 View Transactions Turkey Burger \$10.00 3.0 \$15.00 \$9.00 \$45.00 View Transactions	Veggie Stuffed Peppers	\$16.75	4.0	\$16.00	\$0.00	\$64.00	View Transactions
Crown Royal \$11.00 4.0 \$11.00 \$0.00 \$44.00 View Transactions Tavern Peach Tea \$12.00 4.0 \$12.00 \$0.00 \$48.00 View Transactions Lunch Combo \$16.00 4.0 \$16.00 \$0.00 \$64.00 View Transactions Kids Pizza \$7.00 4.0 \$7.00 \$2.00 \$28.00 View Transactions Portabella Heaven \$14.00 4.0 \$18.50 \$18.00 \$74.00 View Transactions Spice Is Nice \$13.00 4.0 \$14.25 \$5.00 \$57.00 View Transactions Grilled Chicken Caesar Wrap \$13.00 4.0 \$13.75 \$3.00 \$55.00 View Transactions Ham, Apple, and Brie Panini \$11.00 4.0 \$12.00 \$4.00 \$48.00 View Transactions Turkey Burger \$10.00 3.0 \$16.17 \$12.50 \$48.50 View Transactions Chicken Breast Burger \$10.00 3.0 \$14.67 \$8.00 \$44.00 View Transactions <td>Sweet Potato Fries</td> <td>\$5.00</td> <td>4.0</td> <td>\$5.00</td> <td>\$0.00</td> <td>\$20.00</td> <td>View Transactions</td>	Sweet Potato Fries	\$5.00	4.0	\$5.00	\$0.00	\$20.00	View Transactions
Tavern Peach Tea \$12.00 4.0 \$12.00 \$0.00 \$48.00 View Transactions Lunch Combo \$16.00 4.0 \$16.00 \$0.00 \$64.00 View Transactions Kids Pizza \$7.00 4.0 \$7.00 \$2.00 \$28.00 View Transactions Portabella Heaven \$14.00 4.0 \$18.50 \$18.00 \$74.00 View Transactions Spice Is Nice \$13.00 4.0 \$14.25 \$5.00 \$57.00 View Transactions Grilled Chicken Caesar Wrap \$13.00 4.0 \$13.75 \$3.00 \$55.00 View Transactions Ham, Apple, and Brie Panini \$11.00 4.0 \$12.00 \$4.00 \$48.00 View Transactions Turkey Burger \$10.00 3.0 \$16.17 \$12.50 \$48.50 View Transactions Lamb Burger \$13.00 3.0 \$15.00 \$9.00 \$45.00 View Transactions Chicken Breast Burger \$10.00 3.0 \$14.67 \$8.00 \$44.00 View Transactions <td>Onion Rings</td> <td>\$5.00</td> <td>4.0</td> <td>\$5.00</td> <td>\$0.00</td> <td>\$20.00</td> <td>View Transactions</td>	Onion Rings	\$5.00	4.0	\$5.00	\$0.00	\$20.00	View Transactions
Lunch Combo \$16.00 4.0 \$16.00 \$0.00 \$64.00 View Transactions Kids Pizza \$7.00 4.0 \$7.00 \$2.00 \$28.00 View Transactions Portabella Heaven \$14.00 4.0 \$18.50 \$18.00 \$74.00 View Transactions Spice Is Nice \$13.00 4.0 \$14.25 \$5.00 \$57.00 View Transactions Grilled Chicken Caesar Wrap \$13.00 4.0 \$13.75 \$3.00 \$55.00 View Transactions Ham, Apple, and Brie Panini \$11.00 4.0 \$12.00 \$4.00 \$48.00 View Transactions Turkey Burger \$10.00 3.0 \$16.17 \$12.50 \$48.50 View Transactions Lamb Burger \$13.00 3.0 \$15.00 \$9.00 \$45.00 View Transactions Chicken Breast Burger \$10.00 3.0 \$14.67 \$8.00 \$44.00 View Transactions	Crown Royal	\$11.00	4.0	\$11.00	\$0.00	\$44.00	View Transactions
Kids Pizza \$7.00 4.0 \$7.00 \$2.00 \$28.00 View Transactions Portabella Heaven \$14.00 4.0 \$18.50 \$18.00 \$74.00 View Transactions Spice Is Nice \$13.00 4.0 \$14.25 \$5.00 \$57.00 View Transactions Grilled Chicken Caesar Wrap \$13.00 4.0 \$13.75 \$3.00 \$55.00 View Transactions Ham, Apple, and Brie Panini \$11.00 4.0 \$12.00 \$4.00 \$48.00 View Transactions Turkey Burger \$10.00 3.0 \$16.17 \$12.50 \$48.50 View Transactions Lamb Burger \$13.00 3.0 \$15.00 \$9.00 \$45.00 View Transactions Chicken Breast Burger \$10.00 3.0 \$14.67 \$8.00 \$44.00 View Transactions	Tavern Peach Tea	\$12.00	4.0	\$12.00	\$0.00	\$48.00	View Transactions
Portabella Heaven \$14.00 4.0 \$18.50 \$18.00 \$74.00 View Transactions Spice Is Nice \$13.00 4.0 \$14.25 \$5.00 \$57.00 View Transactions Grilled Chicken Caesar Wrap \$13.00 4.0 \$13.75 \$3.00 \$55.00 View Transactions Ham, Apple, and Brie Panini \$11.00 4.0 \$12.00 \$4.00 \$48.00 View Transactions Turkey Burger \$10.00 3.0 \$16.17 \$12.50 \$48.50 View Transactions Lamb Burger \$13.00 3.0 \$15.00 \$9.00 \$45.00 View Transactions Chicken Breast Burger \$10.00 3.0 \$14.67 \$8.00 \$44.00 View Transactions	Lunch Combo	\$16.00	4.0	\$16.00	\$0.00	\$64.00	View Transactions
Spice Is Nice \$13.00 4.0 \$14.25 \$5.00 \$57.00 View Transactions Grilled Chicken Caesar Wrap \$13.00 4.0 \$13.75 \$3.00 \$55.00 View Transactions Ham, Apple, and Brie Panini \$11.00 4.0 \$12.00 \$4.00 \$48.00 View Transactions Turkey Burger \$10.00 3.0 \$16.17 \$12.50 \$48.50 View Transactions Lamb Burger \$13.00 3.0 \$15.00 \$9.00 \$45.00 View Transactions Chicken Breast Burger \$10.00 3.0 \$14.67 \$8.00 \$44.00 View Transactions	Kids Pizza	\$7.00	4.0	\$7.00	\$2.00	\$28.00	View Transactions
Grilled Chicken Caesar Wrap \$13.00 4.0 \$13.75 \$3.00 \$55.00 View Transactions Ham, Apple, and Brie Panini \$11.00 4.0 \$12.00 \$4.00 \$48.00 View Transactions Turkey Burger \$10.00 3.0 \$16.17 \$12.50 \$48.50 View Transactions Lamb Burger \$13.00 3.0 \$15.00 \$9.00 \$45.00 View Transactions Chicken Breast Burger \$10.00 3.0 \$14.67 \$8.00 \$44.00 View Transactions	Portabella Heaven	\$14.00	4.0	\$18.50	\$18.00	\$74.00	View Transactions
Ham, Apple, and Brie Panini \$11.00 4.0 \$12.00 \$4.00 \$48.00 View Transactions Turkey Burger \$10.00 3.0 \$16.17 \$12.50 \$48.50 View Transactions Lamb Burger \$13.00 3.0 \$15.00 \$9.00 \$45.00 View Transactions Chicken Breast Burger \$10.00 3.0 \$14.67 \$8.00 \$44.00 View Transactions	Spice Is Nice	\$13.00	4.0	\$14.25	\$5.00	\$57.00	View Transactions
Turkey Burger \$10.00 3.0 \$16.17 \$12.50 \$48.50 View Transactions Lamb Burger \$13.00 3.0 \$15.00 \$9.00 \$45.00 View Transactions Chicken Breast Burger \$10.00 3.0 \$14.67 \$8.00 \$44.00 View Transactions	Grilled Chicken Caesar Wrap	\$13.00	4.0	\$13.75	\$3.00	\$55.00	View Transactions
Lamb Burger \$13.00 3.0 \$15.00 \$9.00 \$45.00 View Transactions Chicken Breast Burger \$10.00 3.0 \$14.67 \$8.00 \$44.00 View Transactions	Ham, Apple, and Brie Panini	\$11.00	4.0	\$12.00	\$4.00	\$48.00	View Transactions
Chicken Breast Burger \$10.00 3.0 \$14.67 \$8.00 \$44.00 View Transactions	Turkey Burger	\$10.00	3.0	\$16.17	\$12.50	\$48.50	View Transactions
	Lamb Burger	\$13.00	3.0	\$15.00	\$9.00	\$45.00	View Transactions
Cajun Shrimp Wrap \$16.00 3.0 \$16.00 \$2.00 \$48.00 View Transactions	Chicken Breast Burger	\$10.00	3.0	\$14.67	\$8.00	\$44.00	View Transactions
	Cajun Shrimp Wrap	\$16.00	3.0	\$16.00	\$2.00	\$48.00	View Transactions

Lasagna	\$19.50	3.0	\$17.00	\$0.00	\$51.00	View Transactions
Chicken Parmigiana	\$18.75	3.0	\$17.00	\$0.00	\$51.00	View Transactions
Livin Large Burger	\$16.00	3.0	\$16.67	\$2.00	\$50.00	View Transactions
Onion pedals	\$8.50	3.0	\$8.00	\$0.00	\$24.00	View Transactions
California Cobb	\$14.00	3.0	\$13.00	\$0.00	\$39.00	View Transactions
lrish Burger	\$16.00	3.0	\$15.33	\$3.00	\$46.00	View Transactions
Tavern King Fish	\$13.75	3.0	\$13.67	\$2.00	\$41.00	View Transactions
B.L.T.A.	\$12.00	3.0	\$13.33	\$4.00	\$40.00	View Transactions
Kids Mac and Cheese	\$7.00	3.0	\$7.00	\$0.00	\$21.00	View Transactions
Kids Pasta	\$7.00	3.0	\$7.00	\$0.00	\$21.00	View Transactions
Brownie Ala Mode	\$7.00	3.0	\$7.00	\$0.00	\$21.00	View Transactions
Deck pasta	\$19.00	3.0	\$3.50	\$0.00	\$10.50	View Transactions
Reeses Pie	\$7.00	3.0	\$7.00	\$0.00	\$21.00	View Transactions
Brussell Sprouts	\$6.00	3.0	\$6.00	\$0.00	\$18.00	View Transactions
Chocolate Milk	\$3.00	2.0	\$3.00	\$0.00	\$6.00	View Transactions
Rice/Day Vegetables	\$4.00	2.0	\$3.00	\$0.00	\$6.00	View Transactions
Mashed Potatoes	\$4.00	2.0	\$3.00	\$0.00	\$6.00	View Transactions
Sweet Potato Caserole	\$6.00	2.0	\$6.00	\$0.00	\$12.00	View Transactions
Snapper Macadamia	\$22.00	2.0	\$22.00	\$0.00	\$44.00	View Transactions
Seasonal Pork Chop	\$21.00	2.0	\$21.00	\$0.00	\$42.00	View Transactions
Cheesecake	\$7.00	2.0	\$7.00	\$0.00	\$14.00	View Transactions
Red Velvet	\$7.00	2.0	\$7.00	\$0.00	\$14.00	View Transactions
Arugula, Beet, Goat Cheese Salad	\$14.00	2.0	\$14.00	\$0.00	\$28.00	View Transactions
Memphis Pulled Pork Sliders	\$13.00	2.0	\$14.00	\$2.00	\$28.00	View Transactions
Mega Bird Melt	\$14.00	2.0	\$14.00	\$0.00	\$28.00	View Transactions
Infamous Pig Dawg	\$12.00	2.0	\$12.00	\$0.00	\$24.00	View Transactions
AL Fresco Caprice Flatbread	\$9.00	2.0	\$9.00	\$0.00	\$18.00	View Transactions
Southewest Chicken Chipotle Wrap	\$12.00	2.0	\$12.50	\$1.00	\$25.00	View Transactions
Caesar Salmon Salad	\$16.00	2.0	\$16.00	\$0.00	\$32.00	View Transactions
Bat Out Of Hell	\$13.00	2.0	\$13.00	\$0.00	\$26.00	

Tuscan Chicken Caprese S Classic Grilled Cheese Pulled Pig Grilled Cheese S	\$16.00 \$15.00 \$8.00 \$11.00 \$14.75	2.0 2.0 2.0 2.0	\$18.50 \$15.50 \$9.00 \$11.50	\$0.00 \$1.00 \$2.00 \$1.00	\$37.00 \$31.00 \$18.00	View Transactions View Transactions View Transactions View Transactions
Classic Grilled Cheese Pulled Pig Grilled Cheese	\$8.00	2.0	\$9.00	\$2.00		1
Pulled Pig Grilled Cheese \$	\$11.00	2.0		·	\$18.00	View Transactions
	\$13.00		\$11.50	\$1.00		
The R.P.R. Panini		1.0		\$1.00	\$23.00	View Transactions
THE B.N.B. Failtiii	14.75		\$12.00	\$1.00	\$12.00	View Transactions
Turkey Reuben \$		1.0	\$16.00	\$2.00	\$16.00	View Transactions
Grilled Caesar Wrap	\$9.00	1.0	\$10.00	\$1.00	\$10.00	View Transactions
Caesar Shrimp Salad	\$17.00	1.0	\$17.00	\$0.00	\$17.00	View Transactions
Smoked Porky	\$17.00	1.0	\$17.00	\$0.00	\$17.00	View Transactions
Deviled Eggs	\$6.00	1.0	\$0.50	\$0.50	\$0.50	View Transactions
Caesar Chicken Salad S	\$12.00	1.0	\$12.00	\$0.00	\$12.00	View Transactions
Caesar Salad	\$9.00	1.0	\$9.00	\$0.00	\$9.00	View Transactions
Not So Classic Chicken Caesar Wrap	\$11.00	1.0	\$11.00	\$0.00	\$11.00	View Transactions
Tuscan Chicken Caprice	\$15.00	1.0	\$17.00	\$2.00	\$17.00	View Transactions
Spinach Salad	\$15.00	1.0	\$19.00	\$4.00	\$19.00	View Transactions
Lunch Crisp Caesar Salad	\$10.00	1.0	\$10.00	\$0.00	\$10.00	View Transactions
Kids Hot Dog and Fries	\$7.00	1.0	\$7.00	\$0.00	\$7.00	View Transactions
ice Cream	\$3.00	1.0	\$3.00	\$0.00	\$3.00	View Transactions
Lava Cake	\$7.00	1.0	\$7.00	\$0.00	\$7.00	View Transactions
Chx n pasta 5	\$24.00	1.0	\$9.00	\$3.00	\$9.00	View Transactions
Hanger S	\$28.00	1.0	\$32.00	\$0.00	\$32.00	View Transactions
Baked Beans	\$6.00	1.0	\$6.00	\$0.00	\$6.00	View Transactions
Baked Potato	\$4.00	1.0	\$4.00	\$0.00	\$4.00	View Transactions
Creamed Spinach	\$4.00	1.0	\$4.00	\$0.00	\$4.00	View Transactions
Side Butter Pasta	\$7.00	1.0	\$7.00	\$0.00	\$7.00	View Transactions
Side Tomato Pasta	\$7.00	1.0	\$7.00	\$0.00	\$7.00	View Transactions
Custom Items / Fee TOTALS		274.0 1200	\$1.46 \$8.47	\$0.00 \$371.00	\$399.94 \$10,165.49	